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Given the following two equation solve for the point of intersection
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Questions: Y, 5 9, 9
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2) Substitution Method

Steps:
1) Choose one equation and isolate one variable; this equation will be considered
the first equation. (easiest one to get x= or y= from either eqn 1 or eqn 2)

i1) Substitute the solution from step 1 into the second equation and solve for the
variable in the equation.

ii1) Using the value found in step 2, substitute it into the first equation and solve
for the second variable.

iv) Substitute the values for both variables into both equations to show they are
correct.

Example: Solve the system by Substitution Method

@ 3x+5y=28

NS Qg = 223
@ 7 \lSB\: wto Q

see next page

for the work out and description

@ X= 29443
= 20)+3
\A—
> ~2+43

=1

'PU-'\."! of \ﬂ"tr&c\ia\
(y)
J




Chapter 7 System of Eq Day 3 Lesson on Review & Worksheet.notebook December 13, 2019

Use Substitution to Find the Point of Intersection

fQ y ot oleesse 300 o,
y=6 Ykl




Chapter 7 System of Eq Day 3 Lesson on Review & Worksheet.notebook December 13, 2019

Use Substitution to Find the Point of Intersection

2) 2x+y=9

, 3x-5y=-19
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Worksheet

&

All questions

just page 1 to Print



Attachments

Q Chapter 7 System of Equations Day 3 Review Worksheet.pdf



Assignment
Solve each system by graphing.

1) y=x+1

1
-2
Y=y

3 x—y=-13
6x +y=—4

¥

Solve each system by substitution.

3) 3x+v=3
8x+2y=12

T) —2x—4y=-8
x—3y=-11

N x—2y=-9
—2x—-3y=0

11y —5x+8y=14
x+b6y=—18

Date

) y=2x+4
2
=——x—4
773
T & 4
4) Sx—-2y=-06
Sx—2y=-8

6) 2x—Ty=-12
Sx+y=-1

8) —6x+3y=-24

3x+y=2
10} 6x+2y=28§
x—Ty=16

12) —12x-3y=42
4x+y=-14





Answers to Assignment (ID: 1)

1) (-2,-1) 2) (-3, -2) 3) (-1.2) 4) No solution
5) (1,2) 6) (1,2) 7 (-2.3) 8) (2, —4)
9) (-5.2) 10) (2,-2) 11 (-6, -2)

12) Infinite number of solutions
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